SUMMATIVE ASSESSMENT - 11, 2012

Hanferd adter - II, 2012 S5-2080
SOCIAL SCIENCE / amtfsieh faam™
Class - X/ el - X
Time allowed : 3 hours Maximum Marks : 80
freifa ww : 3 gue SrfereRan 37k : 80

General Instructions :

(i)
(i)
(i)

(iv)

The question paper has 36 questions in all. All questions are compulsory.

Marks are indicated against each question.

Questions from serial number 1 to 16 are Multiple Choice Questions. Each question
carries one mark.

Questions from serial number 17 to 29 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

Questions from serial number 30 to 34 are 4 marks questions. Answer of these
questions should not exceed 100 words each.

Question number 35 is a map question of 2 marks from History and Question
number 36 is a map question of 3 marks from Geography only. After completion,

attach both the maps inside your answer book.
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1.A

1.B

2.A

2.B

In which of the following events, we see the first clear expression of Nationalism ?
(@) Glorious Revolution of England

(b) The French Revolution of 1789

() The October 1917 Revolution of Russia

(d) The American Revolution

frefafad semetl § 4 frad g0 U #i yeelt v sfiyerfa Sad €2
@  TREE fEgen e $ve
(b) 1789 hl HIGIHl ki<
(c)  STRER 1917 i ®HI shif<
(d) AR it
OR/3TraT

What was the result of the peace negotiations held at Geneva after the defeat of the
French forces in 1954 ?

(@) Vietnam was made independent
(b) Vietnam was handed over to France
() The United States forces had to withdraw from Vietnam

(d) Vietnam was divided into two parts - South Veitnam and North Veitnam

1954 H WGl =61 WIS o &g fSan | et i aafeti o1 s gftomy gt ?

()  foord ™ shl Tords i foa |

(b)  forrdEm = Wi i G feam )

(c) SRR 91 &l fooa ™ 9§ g1 vel|

) Toardam = < e <faor foerem oiR SR faaaam o fawnfsa # fean

Who said, “If France Sneezes rest of the Europe catches cold.”

(@) Metternich  (b) Cavour (b) Mazzini (d) Garibaldi

forea a1 o ¢! 519 ThiT Bkt & @1 919 R 1 T JHEM A e

(@ e (b) R (c)  Hfcw (d)  Tereet
OR/ 31eralt

Which of the following epidemics struck modern Hanoi in 1903 ?

(@) Cancer (b) Tuberculosis

() Malaria (d) Bubonic Plague

1903 ® Tgfe g W Ffafea 9 form TeMRT 7 gren fhar o1 ?

(@ W (b)  TUEHR ()  HARE (d) =g @

Which one of the following pacts reserved seats for ‘dalits” in the provincial and
central legislative assemblies ?

(@) Luck now pact (b) Gandhi - Irwin Pact

(c) Poona pact (d) None of these

frefafea § @ feg T % sria T oiR e faurh 9Rwel § sfadl & fag wom
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Which among the following was the main reason to boycotts the Simon Commission

by the Indian Leaders ?

(@) There were no Indian in the commission

(b) It supported the Muslim League

() There were differences among the members
(d) All the members were Indian

IR AT GRI WA FHH 1 SfeshR A 1 Fefafad § § S 91 q&1 SR o1 ?
(a)  HHYA H Tk ot U WA TE oA |

(b)  3HA qiEH o 1 A foRa |

()  UcHl o o Haug o

(d) | HE= YRAHE 9

At which place in India, experimental project for geothermal Energy has been set
up?

(@) Srinagar (b) Shimla () Manikaran  (d) Manali
IR H forT T T -a1da St bt T IR Tfid 6t 76 § 7
(@ R (b) e (c) WL (d)  wAEA

Which of the following iron ore deposits is known to be one of the Largest in the
world ?

(@) Bailadila range of iron deposits (b) Kudremukh iron ore deposits
(c) Orissa- Jharkhand iron ore belt (d) None of these

frefefaa die st fadl & 9 forde TUR 1 Ted o2 89 7M1 < 2 2

()  Scfea wig s a8 (b)  FSUE I8 ISR (18
(€  SSHUI-IRETE W T Ut d) SWE H 9 e @
The economic strength of a country is measured by the development of its :
(@) manufacturing Industries (b) agricultural activites
() banking services (d) small scale industries
forelt o1 T amfefer Tstet o1 freafafad & § forg o sTaR o A1 s & 2

(a) af-mfor e (b)  Ffa afafafeat

(c)  sifehw Yag (d) @ sEm

Which one is the subsidiary port of Mumbai ?

(@) Tuticorin (b) Haldia

(c)  Vishakhapatnam (d) Jawaharlal Nehru (Nhava sheva)

frefafad § § &9 g s g8 I i © 2
(@) TR (b)  ®feean
()  fosmaEmETy (d)  TEE AT 8 U

What was the result of Bolivia’s water war?

(@) Water prices remained unchanged

(b) Imposition of Martial Law

(o) Cancellation of MNC contract and restoration of water supply to the
municipalities

(d) All of these
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10.

11.

12.

13.

14.

Sifetfern Siet g =1 31 TR g7 ?

(@)
(b)
(©
(d)

STE ! STl § IIREd Tl gl |
pEINGRGIRGIR eIk

TG HIAT HT ST TE Fleh TR TR bl STaTqfd Gig < T |

SYUR 9T |

Which one of the following political parties grew out of a Movement?

(@)
(©)

All India Congress
Bhahujan Samaj Party

(b)
(d)

Assam Gana Parishad
Communist party of India

frefafea § @ sF o Yo It A< 3 S T 3T 2

(@)
(©

Which of these takes direct part in the elections?

(@)
(©)

frefafed § @ A g & e oam w2

(@)
©)

S R |
SIS FHS et

Interest Groups
Political Parties

fod g
SEIRERE e

(b)
(d)

(b)
(d)

(b)
(d)

39H U1 gREg
AR w9l

Sectional Groups
Pressure Groups

forr fea w8
T TR

Which challenge is faced by every democracy in one form or the other ?

(@)
(©)

Foundational challenge
Challenge of expansion

(b)
(d)

Deepening of democracy
None of the above.

frefafaa & @ S 9 S 1 9 e a1 fret 7 fhEt T & e gedr 7 2

(@)
(©

FFS 3THR &t = |
forear &t A |

(b)
(d)

ST~ TSTed Y I A |
S H § FE T2 |

Which is the major reason that prevents poor from getting loans from the banks?

(@)
(b)
(©)
(d)

(@)
(©

Absence of Collaterals
Lack of capital
Absence of mediatiors

Interference of the local moneylenders in the markets

frefafed § 9 i 91 wror feET s O kU1 o § Uehdl © ?

FEOMYR hi HHT
qegEel} ki HHT

(b)
(d)

STt T hHT
T ARHRI 1 ISR H @A

Which of the following is the main source of credit for the rich household ?

(@)
(©

Informal Sector
Self Help groups

(b)
(d)

Formal Sector
Local Moneylenders

frefafad & 9 #iF @1 S R aRari & fog & 1 e @ 8 2

(@)
(©

AR S
Y Tl 98

(b)
(d)

=i Sl
T R
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15.

16.

17.A

17.B

18.

19.

20.

21.

22,

23.

Which one of the following is a basic function of foreign trade?

(@) Goods and services are produced for internal markets

(b) Trade flourishes in the domestic market

() It gives opportunity to reach beyond the domestic market

(d) Investment is done to expand the trade within the domestic markets

frafafad § 9 ®F @ FE foce AR &1 SHRYd wE © 2

@) U IR FaTd ARk SR % fae seufed st St € |
(b) T ISR H SATIR Terdl ot § |

()  I% =Re ISR § F6 ST 1 ST Y8 il ¢ |

) TR TR F T AMR Fam & faw fraen foran s 71

Which one of the following rights is ensured to the citizens Under the RTI Act ?

(@) Right to be Informed (b) Right to safety

(b) Right to be Heard (d) Right to Choose

a1 & AR o STata Fefaiad § 9 ®F 91 sfusr giHted fea s g ?
(a) I UH A ATGEHR (b) &I o SA(HHR

(© YIS 1 AfRR (d) T A IHHR

Why the 1830’s were the years of great economic hardship In Europe ? Give three
reasons.

1830 1 591 JAY ¥ 3Tk HisE & a9 Fi el @1 T ? HIE 4 HROT fAfEm |
OR/aterar

Explain any three steps taken by the French to achieve their aim to exploit the
natural resources of Vietnam.

o o UTR{qeR FHIEHT 1 SR L T 35 U A o f7T 33T T Fohegl i heHl
%] TI HIfTT |

Why was the Non-cooperation movement launched by Gandhiji ?

TS = STEEANT AT Fl Y& T ?

Describe any three importances of coal as a source of energy.

o1 & A 6 9 U DA & TRl diF Al ol GUH HiTIT |

What are the major challenges of the sugar industries?

<=t ST T T HfaEr e ?

Explain any three factors for the localisation of an industry in a particular area.

fordt 3 & fordt foRiw &= o e1afted 3 & Tl T SRehl ! ST Shifeld |

What are interest groups? Give two features of promotional pressure groups in
India.

fod TE RN E? IR o FeAURRR! HRT Hi FIE < o fafe |

Why do people prefer democracy? Explain with three reasons.

TN o=l bl I U< hid & ? hig oI SR fafa |

3x1=3

3x1=3

3x1=3

3x1=3

1+2=3

1+1+1=3
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24.

25.

26.

27.

28.

29.

30.A

30.B

31.

32.

33.

34.

35.

What is the challenge of deepening of democracy ? Explain.
Sl 1 ASTe[d A i A FT & 2 T HifeTq |

How democracy could be politically reformed?

AThd ol TFE YhR TSHITdh €1 F GERT ST Hehell ¢ 2

Explain any three ways in which multinationals companies have spread their
production and interaction with local producers in various countries across the
globe?

TR % 3Tk <9 H IgUsed HAafal gRI 3794 ITe TR sT=afshal &l thaiH o Tl oA
TR i AT HIT |

Explain the role of technology in stimulating globalisation process.

AvelTohtoT ST Wfeha b1 Td had | UTENfiTehl (ToTTS) i YfiehRt o1 Tt shifsr |

How is the consumer redressal process becoming cumbersome ? Give three reason.

SusieaT frermad fHamor gfshan Sha Sifedt &t < @i 82 $E i1 SR fafaw )

What is the function of three tier quasi machinery under COPRA? Describe.

Syt HReT Afufran & earia B =t o & & Far € 2 9o sifeg |

Explain any four provisions of the Napoleion civil code, 1804.

1804 ! TN AT Gfedr o fo<i 91 YaeMi st AR Shifsu |
OR/27raT

Explain the reason for the popularity of ‘Go East Movement'.

"qTE 1 SR Tl SR i ARAIAT o HR0 T SIS |

What was Satyagraha? Explain any three satyagrahas launched by Gandhiji.
TAE F1 2 el St g/ 9% T e fonl <fie Temiel 6t =men wife |

Explain as how do the physiographic and economic factors influence the distribution
pattern of the Indian railway network ?

o ufta a3 o faaRer sl y-sTiehfas qen sTféfe sRe Y gaifad i § 72 T it

“Political parties play a major role in democracy “Explain any four point to justify
this statement.

“qreifeer Wit iR H W v e fur €177 59 e i gfte § i =R fag
fafea |

Why is money transaction system better than barter system? Explain with examples.

He1 fafma gomelt ford wohr g fafma qomelt § e T2 SRl S T Hif |

Two features A and B are marked in the given outline political map of India. Identify
these features with the help of the following information and write their correct
names on the lines marked in the map.

(A)  The place of peasant satyagraha

(B) The place where Jallianwala Bhagh Incident took place.

3x1=3

3x1=3

3x1=3

4x1=4

4x1=4

1+3=4

4x1=4

4x1=4
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IR & fou g Teifae amfes | A IR B <1 @e fafea frr gu €1 9 & v SHei
F STTER W 37 TLI0N bl JgaM iy, SR A § Fafea Wt w 3 et 9m fafaw)
(A)  TREH % TEwE H TH

(B)  Sicraienet ST <hi ST h1 T

OR/3T<raT

Locate and label the following items with appropriate symbols on the same map.

(i) Champaran - Movement of Indigo Planters

(if) Bardoli-No tax campaign

3t g W frAfafed S Suged Gedl gRT Sge 3iR 39 Tal AW fafay |

() = - T G Fw Gl SR

(i) IR - wrer A& A

Note : The following questions are for the BLIND CANDIDATES Only, inlieu of
Q.NO. 35

(35.1) Name the place where cotton mill satyagraha took place
(35.2) Name the place where Jallianwala Bagh incidence took place
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36.

die:  fTefafea w7 S givefa Tdenfda & faw v g 35 & om | T
(35.1) 39 T 1 A fafae Sl gt wuer e Asigdl 1 < e |
(35.2) 3T T &1 A fafaw et sifeaiaren s e g8 |

Three features A,B and C are marked in the given outline map of India. Identify
these features with the help of the following Information and write their correct
names on the lines marked in the map

(A)  Cotton textile industry

(B) Major port

(©)  Anoail field

9RA % feu gu asHifas Y@ Amfed W A, B 3R C @smn fafea fee gu €1 = &
SFHRI & YR W 37! Y9 hife 9ol At § fafed Warell @™ 9+ 98t 7™

fafaq |

(A) A T SEm
(B)  ¥H@ Wl wH
(C) THdd &
OR/3eralt
Locate and label the following items on the same map with appropriate symbols
(1) Kaiga - nuclear power plant.

(if) Paradip - port
(iii)  Anantnag - silk tentile industry.

S TEmEe W ffafiad s Sue Hehdl gRT S911sY, 3R 3% M fafEw |
() - SR Sl HAN

(i) IR - G O

(i) SRR — WH] HaeT TR

NOTE : The following questions are for the BLIND CANDIDATES only, in
lieu of Q. No. 36.

36.1 Name the international Airport of Mumbai

36.2 Name the state where Kaiga nuclear power plant is situated.

36.3 Name the southern terminal station of north-south corridor

qie ;. frefatea ge S et wdenfeial & foag 991 s 36 & TH W
36.1 I3 % AU BaTs Iad ol M fafET |

36.2 3T T i A foAlEn Siel i sToifesh St wo et 7

363 SR et iR & Sfaam B8R 1 A fafew |

3x1=3

3x1=3

3x1=3
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